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C.   The Enterprise protocol supports messages up to eight minutes. 
D.   The Enterprise protocol is compatible with up to four additional protocols. 

Answer: A, B 

QUESTION: 54 

Which Internet mail client is supported by CallPilot?
 

A. Eudora Pro 
B.   Lotus Notes 
C. Internet Explorer 
D. Outlook Express 

Answer: D 

QUESTION: 55 
When setting up the data network requirements for a CallPilot Rls. 5.0 deployment, it is 
necessary to have certain information. Which two must be gathered? (Choose two.) 

A.   user ID 
B.   password authentication 
C.   ELAN IP Address of the PBX 
D.   host name and IP address of the local CallPilot system 

Answer: C, D 

QUESTION: 56 
A customer wants to replace their messaging system with CallPilot to provide Unified 
Messaging for all their employees. The graphics department uses Apple computers, while 
the sales and marketing departments use PCs with Windows. Which Unified Messaging 
application will support the customers needs? 

A. My CallPilot 
B.   Citrix MetaFrame 
C. Desktop Messaging 
D.   Desktop Messaging for Internet Mail Clients 

Answer: A 

QUESTION: 57 



 
 
 
 

 

 
 

 

 
 

 

 
 

 

 
 
 

  
 

 

 
 
 

 
 

 
 
 

 
 

 

 
 
 

 
 
 

  

A customer wants to re-allocate its mailbox licenses during an upgrade. Which two services 
can be downgraded with the license reduction option? (Choose two.) 

A. Voice forms 
B.  Fax channels 
C. Voice mailboxes 
D. Speech recognition users 

Answer: C, D 

QUESTION: 58 
An undetected short in the wiring is causing the cooling system in the server room to 
fluctuate. You are concerned that the servers might get too hot or too cold. What is the 
operating temperature specification for the 1005r server? 

A. 5 to 35 degrees C or 41 to 95 degrees F 
B.   10 to 35 degrees C or 50 to 95 degrees F 
C. 15 to 30 degrees C or 59 to 86 degrees F 
D. 10 to 45 degrees C or 50 to 113 degrees F 

Answer: A 

QUESTION: 59 
You are in the process of proposing a new CallPilot Rls. 5.0 system for a Communication 
Server 1000 switch. You need at least 800 hours of storage for 20 fax only channels. Which 
two systems meet the requirements? (Choose two.) 

A. CallPilot 201i 
B.  CallPilot 600r 
C. CallPilot 1005r 
D. CallPilot 1002rp 

Answer: B, C 
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